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COMMON HALF YEARLY EXAMINATION -2024

* Standard X152 e Reg.No.
| | MATHEMATICS ,
Time: 300hrs ‘ Part -A ' : Marks : 90
: : 20x1=20

I
1.

10.

1.

12.

Choose the correct answer: .

The number of constant functions from a set contaming m elements to a set containing

. n element is’ |
a) mn by m - _¢)n e d m+n
The value of log,b log,c loga is e 4

a) 2 S e d) 4
cos 19+ cos 20 +cos 3% + .......... + cos 179° =

a) 0 by 1 . c) 1 d) 89

The function f : R — R is defined by f(x) = sin x + COS X i$ N
a) an odd function )

" b) neitheran odd function nor an even function
. ¢) an even function .

d) both odd function and even function

. Which of the following is not true?

a) sind==  b) coso=-1  ©) tan0=25 ) secB=
The product of r consecutive positive integers is divisible by

a) r! b) (r-1)! c)r+1)! - d).rf -
1+3+5+7 + .ccuvieer +17isequalto . : -

.a) 101 : b) 81 | )™ d) 61
" The coefficient of x5 in the series e™2Xis : :

a) £ D 2l )07 d)

_ .
If the point (8, -5) lies on the locus X 16 25 k then the value of k is
a) 0 - by 1 c)2 TN ) B

Ifthe two Stralght Ilnes X+ (2k 7)y +3=0 and 3kx + gy 5= O are perpendlcular then
the value of k is |

a) k=3 b) k—% ’ ‘c)k=_§. d) k=% :
| £, for which the matrix A = X2 o7+ ] |
Theyglueo % qrw_ ien e mannx e2tX . 2x+3 | is singular
a) 9 b) 8 - 07 & 6
SN2 4 -2 4 2 '

A=|3 1 0 _  ,B=(6 20 e e

If Y Mand 77 _ ,then B is qi

PRV & st = U - Sttty
a) B=4A b) B=—4A = C)B=_a d) oA
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2 | Xl Maths
If 2.7+ 23]+ 22k is a unit vector then t® value of ) j
. ) 1 -
: o 1 4
a) % b) 71— ) 9 d) 3
If 3.5, are the position vectors of three COllinear points then which of the following is
true? | ; . /
a) 3=b+¢ b) 2a=b+cC C)bcgys d) 43+b+c=0
Lim sinx | )
The value of x—0 \[;2‘ is |
g b) 1 ¢)0 d) limit does not exist
If f(x) = x + 2 then F(f(x)) atx = 4 is
a) 8 b)= 10 B c)4 d) 5

If [f(x)dx = g(x)+c then [f(x) g'(x)dx

a) [(f(x)? dx b) J[f(x)gx)dx  ©) [f'(x)g(x)dx d) " (g(x))? dx

je X cosx dx is
: e—4‘x .
). & = (4cosx sinx)+c b) €=~ (~4cosx+sinx)+c
—4x i .
c) &— (4cosx+smx)+c d) £ (-4cosx-sinx)+c
A number is selected from the set {1,2, 3 ........... , 20}. The probability that the selected
number is divisible by 3 or 4 is
2 ' A; o 1 2
a) § b) 3 ) % d) 2

If two events A and B are mdependent such that P(A) =0.35 and P(A U B) = 0.6 then
P(B) is

g5 R TR 4 ~ 7
a) 13 b) 13 o713 9 13
: . Part-B :
‘Answer any 7 questions. (Q.No.30 js compulsory) 7x2=14

] i = 1,1
If a and b are the roots of the equation x2 - px + 4= 0, find the value of B b

b
IfA={1,2,3,4}and B ={3,4,56} fing ni(Au B) X (AN B) X (AAB)]
In a circle of diameter 40 cm, 3 Chord ,[S( of length 20 cm- Find the length of the mirror
arc of the chord. : - :

Evaluate : r—l(n_?)_' whenn=g | _ 2
Find the equation of the line Passing through the pomts (1,1) and (=2,3)

If G is the centroid of a triangjq ABC, prove that GA + GB +GC=0

Kindly Send Me Your Key Answer to Our emailﬁi - Padasalai.net@gr'héil.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

™3

[
w2

42,

7, Compute . 7 . gx's“3?<+‘é)‘{.. 2.1

42. To secure A grade one must obtain an average of 90 marks or more in 5 subie

" " - - ! (s} ~#p -~ i‘
5 In an eramination a student has to answer 5 questions. Out of 8 questions in

35, Find the equation of

. a) i Aand B are two 5ets 50
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O

g

Lun %

Evaluate © [{4x + 5)° dx
if two coins are tossed simuétane%si . then find the probability of gatting one head and
one tail '

b

L

%
X"+

. Differentiate wr 1o 'x'if y = 3 & gx | g x + log X

. Part-C R — 7
Answer any 7 questions. (Q.No 40 js compulsory) oy~
1

Find the range of the function
2cosx-1

et i
ubiecis each

i o G B
ects, whatis ine

of maximum 100 marks. If one scored 84, 87, 95, 91 in first fpur subje
minimum mark one scored in the fifth subject to get A grade in the cou

—ﬂ"
se/

P;GV& ﬁ'\H? S§n§450 - B}_‘ Siﬁ%‘_{SO - 8 — Wfi SMG

ogx  logy  logz N
id = — — : ; 1 - 1
WS "7k "%y then prove that xyz

I A,
WICH £

are compulsory. In how many ways a student can answer the ques;ticns’? O
' the fine passing through the point of intersection lines 4x-y+3=¢

and 5x + 2y + 7 =0, through the point (-1,2)

¥

0 ¢ bé;z b2+ c? ab2 ac
. gc 0 a§ =i ab Cz+a 2b62
> Smthalg G G% | o Ny 2 4b
i

Lim yz24-3

E%guate . 25 1"5
D x2-5x+3
Findy.y andy”ify= fa“bsénd f(x)
if (x) = 3x + 5and {(2) = 20. ANC AL )
Tx5=35

estions. 4
Answer all the question that n(B—A) = 2n(A - B) = 4n(A~ B) and if n(Au By = 14
then find n{P(A)- (OR) -
D is a quadrilateral and E and F are the midpoints of AC and BD respectively.
that K§+EB%EB‘+CD=4 EF
x+1

fractions © x2(x-1)

(OR)

p) IfABC
then prove

a) Resolveinto partial
' (52 is 8PProximately equal to —5 when X is large-
W Prova et 37360 24 ely equal to 1z |

&
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7 4. - - XI Maths
43 a) By the principle of mathematical induction, prove that for 411 integers n > 1,
2 _nfo+1)(2n+) |

B 6

(OR)

12 22,324 ... +n

b) 1fy- otan ™' x  show that (1+x2)y”+ (2x=1)y =g

44. a) Find the values of other five trigonometric functions for cos @ = —% , 0 lies in the 111

quadrant.
(OR)
‘ : X =d ‘g |
b) Showthat 2 * @ =(x—a)2 (x+2a) by using factor theorem.
a a x

45. a) Show that the equation 9x2 - 24xy + 16y2 —12x + 16y - 12 = 0 'represe.nts a pair of
parallel lines. Find the distance between them. '

_ (OR)

b) State and prove a Napier's formula.

[ 0 for x<O0

. ¢ ( )_ X for 0<x<1

46. a) A function fis defined as follows : /. |=x2 +4x—-2 for 1<x<3
4-x for iix23
is the function continuous? (OR)
b) Find all the values of x for which X (x=1) >0
: X-2
. . 3x+5 dx

47. a) Evaluate: | AT

-~ b) - Afactory has two machines-| ang ”.(N(A)aRc)hine.l produces 60% of items and machine-Il
- -produces 40% of the items of the total output. Further 2% of the items produced
by machine-I are defective wherg as 4% produced by a machine -Il are defective. :
If an item is drawn at random, what is t;ep probability that it is defective? :

Fddedede e i

L
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